N(Mpc-3)

107>

RKNV1O hA@f75

105<IogM<110

y= =0

)

N(Mpc-3)

@ @ M(integral of SFH; R
@ @ M(alive+remnant; R

[I][I] M(alive+remnant; Ro=1.5kpc)

( =2.5kpc) ||
( =2.5kpc) ||

[T1[T] M(integral of SFH; Ry =1.5kpc) ||
(

00

0.5

15 - .2.0. - .2.5. -

Redshift

1.0

3.0

R<Ro

105<IogM<110
@
@
¢ o oo og
1074} | E |
’ g
105 ]
@ @ M(integral of SFH; Ry=2.5kpc)
@ @ M(alive+remnant; Ry=2.5kpc) ||
[T1[1] M(integral of SFH; Ro=1.5kpc) ||
[Om M(alive+remnant; Ro=1.5kpc)
0.0 05 10 15 20 25
Redshift

3.0



